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(TH2l: M)
sA7E of Aty 710 sty st Halzds
H Hl 1,238,926,032 1,237,735,694 | 1,190,338 | 12,740,300
uts| A 1,221,118,878 1,219,928,540 1,190,338 | 11,402,446 367
Ed3|7 17,807,154 17,807,154 - 1,337,854
HETH
e i HEs A FH| 25 7= AlH| SHuSN | EEusF i
= Al 1,190,338 68,910 - - | 1,121,428 - -
xrggay | FEOETS EAE AT 7010| 7010 i : i i :
WX Al-T SR ALY 100,000 - - - 100,000 - -
WX Y1t gﬂiﬂ*é’;;gﬁg 15,000 15,000 - - - - -
mE=yyETinl} gﬂ;zazgi“g 15,000 15,000 - - - - -
mESINEny M2 SAEEAY 14,674 - - - 14,674 - -
NP2 iy MEE ZASE RMEAY 21,192 - - - 21,192 - -
XS ZH 2t A E 25 ALY 12,020 - - - 12,020 - -
AOEZAD | X5E CCTV DE3 AFY 100,000 - - - 100,000 - -
X =ghat A g%;;gf; fgﬁxl = 309,808 - - - 309,808 - -
=x|E T} g%ﬂ%' i':ij _;*fl ane 1823 | 1501 : : 322 i i
SRt J|=FEYMI.0E 29 600 - - - 600 - -
S| Y0t og %ug;% sy 72,468 - - - 72,468 - -
SAFEM | olLE SEhAbg R FTAY 3,140 - - - 3,140 - -
SRt EE50SHE ALY 205,000 - - - 205,000 - -
ZAEFEMA | M2 oM HEE 2EX|H 6,926 - - - 6,926 - -
JFEXMIL | OJO|SEX| ALY =T} XY 20,213 - - - 20,213 - -
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